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Alcohol Testing Program
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INSTRUMENT PROCESSING SHEET
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Quality Control Review

Date In 6/8/ Date Out 5[29‘/” PShip Qp/u OH/o QCMI Oet
intake Performed E&@G/ B, Quality Checks Performed By < Flow Calibration Performed Y\
0 Registration X Breath Tube Screen Flow Calibration N/A ’Té\

" Annual ‘ Replace O-Rings O Flow Calibration Complete Oéf}
Q Return from CMI }é Instrument Set Up Verified Flow Column # 44'7 f/zf\\
B—Return from Enforcement 'ﬁ R-Value Q 5U/min i 7mm ’Pé; ‘G

Electronics )B Flow Venf:cataon (L/s) Q 15./min- 0 54 2& "
O oOther Flow Column #_ATPI10Z2 Q 30i/min - 103mﬁb & 7
Visual Inspection: 32mm _r (52 (139- .169) | Q R-Value Q
Case %Hénd]e 36mm /75 (.156-.190) | O Post Calibration Verification (L?sb
Sl Dry GasHolder I Feet 53mm 13 § (228- .278) Flow Column # S
Ol Keyboard/Plug  CACBack/Plugs 103mm 5 (7 (447 .547) 32mm (.139 - .169)
Ol Screws tight Ol Breath Hose tﬁ Barometric Pressure Check 36mm (.156 - .190)
Gauge ID # 53mm (.228 -.278)
Other Equipment: Stability Checks 103mm (.447 - .547)
0 Paower cord "Simulator | Serial # Lot #/Exp _
O Printer Cable 0.05 & 249 Oq A0l 05D | | Maintenance Performed By _
O oOther e B-%-1¥ O Battery Replacement
0.08 . 0| {g 01 QO Dry Gas Regulator Replacement
SO0 Y l"oiliﬂ .,E’ O Breath Tube Replacement
Notes: 0.20 e g ] | Q  Other
DA3Y50 ao. L_,w;%; ¢ Suggested Service
0080Gs | N/A - [AC1107iulibh]
q-22-1%
Optical Bench Calibration Performed By X T Department Inspection Pérformed By “~1-
O Optical Bench Calibration N/A Barometric Pressure (D] 2 Gauge
Q Optical Bench Calibration Complete o ID# o’?b"“f B / O/ (o Instrument
Baraometric Pressure Gauge IB’# 02 § 4 21 5
Simulator | Serial Number | Lot Number Explration Mouth Alcohol Solution Lot # KO /e —A
0.000 3P0 e N/A N/A Acetone Stock Solution Lot # Lol B
0.040 SDloZ Y 15105 g-5-11 -Simulator Serial I\!‘Ufnber
0100 15p1022 (5001 [5-g0-/7] |20 __ g"é?f e
0.200 DRAESES 15104 > lT) 0.05 b%*’)o 7
0.400 G241 15705 [p-10-17 ||[o0s K Z02/Z 19
0.080 DGS | N/A 5L 1508042 -5 - 0.20 7 DR 35 5l
'@ Post Calibration Stability Checks
Simulator Serial Number | Lot Number | Expiration Attachments _ 2
0.05 ax»109 203D |3-5-1% & Forma1 @ Optical Bench Cal
0.08 DAl A 19 AoloFE [1-2-1§ B Pre-Stability Tests B Post-Stability Tests
0.20 DRAZBY 2A0\o4C. | 4-5-18 O Flow Calibration Q oOther
0.08 DGS | N/A R6L A5 | 4 -292-8
Notes: ‘ B Instrument Complies with Chapter 11D-8, FAC
QA / QOc. 3 F Q?Om '3/ ';}S’f 30/ :) O  Instrument Does Not Comply with Chapter 11D-8, FAC
: A Return to/Place into Evidentiary Use
| & Remain Out of Evidentiary Use -
ﬁ Conduct an Agency lnspection Before Ewdentiary Use
/O Vs / / v A Z )
T el /T ksl 5 / S, E///“
Date

Revised November 2012
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